E9H

2B (AH) 38 () 48 (JK) 5H (K) 6H (&)
R4 BR% —ABY | |#ze =k —AN&Y | @z BR% —AHY | |#z Bmb —ABY | |#is BER% —AZY
ERNE | | EkRDE EkHE EkHE ERNE
V=P S so| [ |@Ex% go| (3 [ay~sso 60| [ |#@E% NIEEET 60
L [I=S v & b
é £33 206 |~ (&3 206 ;\ 43 26| |7 [#3L 206 :\ 4£3 206
"t — LS — v &4 - v
2z |HE RS5AR 20| |z, [HEE _RSAR 30 BEAVE B BARL 18] |g, [GELAS— Ho= 40 B 4B (MYRBAY) 70
(E) /LT 5 b=} 1 |4 |mEsvk b6 guL 12 =13 | (& |BE 0.1
& |EhE BUE 40| |A it @b mgy 70| |3 [ AVAFAR 10| (BB |BALEE 01] [3L  |ZL&LS 0.07
R e D 50| (L [ERE BTE 40 FhE FOE 35| |L Y esLIzAlz 0.1 <—<L—F @EA 5
AS 10| [® [ozcalzecin—) 20| B |EOEI-ZM 30| /N |EbE(EEIHE) 19| | |EE 13
A |goy— 51 (B [Az 15| |A Az T 04 IR [EOE; 13
7 [moEes 5| |y [OBITERE 5| [ [Lac 8| |2 [BE 09| |2 [&aYa 13
L Kb bwbkiE 5 |z |t 1 g |lenzpa=czw 5l |y |ROEH 8l || [CA 04
¥ |[GhsaLIZAIK 05| |z [ROE: 3| |y |tot=tait 1| lig B 55| |- |8 1
5 =133l 1 |z FOHE () 2| |z [EOE] 1 |1F L
A& UNER (AR 55 TAH 05| |1 (LM AR 3 Sl S 30f || Fey 20
tit-tail 45| |&# |53 10 |7 |&%& 04| [= F o (eJovay— B 10
HL—# 1] |2 B |rxoavus nomams 05| [— i 5
(LR ABER—F 3| [& [&mtL 30| |, [CLsS 003| (& [c8)EmE Hob 25| ¥ [wht—pa—y 5
DREA—YY—R 3 ;_ IV EE 15 ,7} = 90 -: FhE FOE 20 y BTy TS 5
FSESE 2| [T [Az 5| | AZ 5| |5
bR FrvT ke 2| |z |®EEHRAHDY 12 v, |[ZRISHR 20| | |HhE 5 | [R=3¥ R54R 7
EAMDY—R 1 EOE; 1.2 |4 [Zp35Y 25| | |BOEH 06| [7 |EE BLE 20
EOE] 1] Ly > (LM R—)La—2 5| |L BiE 06| |~ Lottt hyk (REOE- YY) 25
FrYR 1 (A @ araCa—2 125 |¥  |Zt-tai 1|7 |ELEIYE gk 3 |9 |AB 7
BiE o8| |& =13 3| |, |ELEA 117 [LsL 5
—LsS 004| |=  [@®usmoEE 8] |7 [mmE(Emm og| B [k 0] |¥  [way= 3
FEavyA 5B 0.5 ZI; :EI BiE 0.2 5 it-4ail 0.6
= E—— - T S~
&z 90| | x |ELs£5 0.03 (8% Hyk(1/6) 30| | |[LRABZR=TF 3
=1 z  |EOE] 0.7
() Jovay— BE 40 4 | FaakFoU—L /M 10 [ FEravyA 9-IRE 0.5
AS 5 ) | FaakssU—L 15 7 |BiE 0.3
(LR ESCHME 5 I cLeS 0.02
(LR k—La—y 5 L (@) 2ESEY— 40 o—yT 0.1
(BT URLYLY BB 5 - & 100
E
5\
£

—




E9H

9l (A) 108 () 118 0K) 128 (K) 138 (£)
R4 BR% —ABY | |#ze =k —AN&Y | @z BR% —A&Y | |#izs BR% —ABY | |#is BER% —AZY
EMAE| | FRHE FKRHE FRHE F®RHE

= |[BEXER 0] |= |HEExX 8o| B |#&E% 80| [T [ayRssy 60| (B [#Ek(EHE) 70
o [kuE Fi 10| [1& 5 l@sushi 3| ¥ S [RuE FH 10
(& ) 206] |Y ~ o Em 206| |IF
A = » — N A —

= 2061 | 4 ER 206/ |, 43 206
* = |BmAEhvb B OERL 15| (= BRFRGITF 20| |4
gz, |BAKEIVF 18 BoAvh b BEL 10f 1z |mBesvt B BEL 15| |4 |CR)EHT 30| |z |BAE_AYY 40

ChIEETE Hvb 65| |51 LEHA 1| (A |mEsvk 2% mHL 10| |13, |EhE FDE 55 BAHLEZE 0.8
be:3 EhE R 40| |& BB C AT 15 b 1 Comtthok (EOE- ) 50| |BK (R EALIZAIZKL 0.8
E (AB 10 K [Z135 giohuk 25| | [2uthukEmY) 60| |F [AZ o] |¥ [E& 1
2 AL ERS 7 NACh LbEESTY 15| [FL [oEcAlzel 151 |V [(LRr=rkE 0] [ [FrxRy 30
% fhaFE 5 T FF D TIKE ELEIY) 20 @ A 15 i B esLIzAlzK 1| |7 |[azxsF 25
PR (X JURR S T 27 1 £ AS 12 = B SOVAITA 8 s AS L)) 0.5 b AL 12
z |BoLEE 03] [« [AEOVAIFA 5| g [tf-taih 15| || |fat=tait {1 A [ 5
7 [BBALIZAIK 02| |k |ZEih 12| 3¢ |ROES 35| |v  |FREZFYYT Tke 65) [op |SEiM 0.5
[ 3: 1 | [EOEH 45| B |EbEE (RIS 2 FhHE (ch X 3E) 15 |2 [BOEH 3
) FHZ 5/ | & FO¥E (P IHE) 25| | [[FBE IRE: DARI—Y—R 12| || [y AGA=E ) 1
A [EE 3 Thth 07| IE [k 10| B [rroavus smms 05| |7

=0 21| [® g 20| ¥ Y et 04] | . [rerzins mm mue 10
Y pmcaEm 2| |2 g [EBEL 0| 7 [FussE= ol £ [wh3gom 20
LAt 06/ [ AL 30| |3 INREE 15 B 0| |2 |ERE ELE 20
o |& 20| | [ 15 |l [AZ 5 |3 I |AZ 5
- # |AB 5| |4 | BEE 07| | I FrRy 20| |4 |FELbh® Gvk) 0.4
T [AELBL 30| |~ [EOE] 2l [~ [BOEH 15| (¥ |Ew3Y 20f | |BROE; 0.8
Fo[EeSY 15 BEFF 15| |BF  |EbsE(EEgE) 05 [ [(LR)A—La—y 5| |~ |&E 0.3
LAz 5 BbE (EE ) 1| |®  [ewyacsscos T LERICY SO0 o5| [ [cL&S 0.02
;J (LR h—)La—> 5 7—EVE &) 12| | % BLEFLYLLY S BiRE 5| [P [55oavux smims 0.5
7 |eE 2 7—EUE () 12 (@) AREAC 30 # (LR BBR—TF 3
Z = A ~ e
5 | 1 B eI 70 CFEi 0.3
1 EOE 2.3 (E) $8 5 40 & 110
Z  |EECEBE) 1.2 F
| (82) #Y B3 2 (500g) 1 (E) HFE<I1> 30
7N
jﬁ{ ) NRAYT—EUR 8
Y
7
[
£
v
g




E9H

178 ) 18H (k) 198 (K) 208 (%)
A Bmb —A&EY | |#zs Bmd —A&Y | |#xs Bmb —A&Y | |#za =4 E —AHY
ERD=E ERS = EERDE EXS=E
' gy B 60| [ [|av~ssy 60| = |#BExk 80| [0 [®E% 80
i ¢ (& C [4m 2542 15
=D 206| [ |53 206| |~ (&3 206 | [amr 5
I\ A Z —
. . PIYZAITeL 5
> N & =8
N B BEhBNAUN—=H 50 (A) LANERR (1 X 4cm) 50 ) BAAVE B L 15 A AS 5
[ B BHBNLN—Y 60| |4 [BE 2 BAAYE b EHL 10 (BTERE 5
A |BECEERE 25| |2, |TAH 4 |5 [BE 1|14 |GDHULsE 1
I [EOg) 15 K45 3| 1B [EmEmcraon) 13| (Bl [Atctaid 05
AHYA 2| |V ARl | B |[EhE ROE 35 SILEHE] 2.2
* oA 02 [ [Ee¥F gE 15 B [As o] (9 &7 23
Aok 4|2 |rs 5| |2 [eEis 7 :I): B (EaE) 1
N £ if-1ail 0.5 ; () FLLLV=F (R51R) 0.7 L Bt 0.6
PO i da V) 30 |+, (BLEVEH 35| |= = O &5 3 |x  [EEE 0.6
z  |AZ 5 |[= |EbEECLEHE) 3.2 Rb¥E (ZIRHE) 22| [ |ELE# 05
k 1) EOEH 1 ([ [BE 03| |»
O [R—ay X54X 7| [ |TAK 02| |A  [ELEIYE k= 15| |& (43 206
| [ERz o= 25 5 5| [V [B 60| |
* Wl rerkE 20| |2 A L |Tass 15
As 5 g R—av R54R 7] |* [KboL 21 |7 (gt 5
Lot hok (EEE YY) 20 X EhE RU= 20 & IMNREE 18 0 ()Y TFLKIE 8
E)THO=(CT)L) 35| |z |cesvtnsruzs-may 25| |x  |AZ 5/ |z |AZ 7
rit-4aim 06| || AS 7] |y FKLZH 05 CRISPVLAITA 5
B BALIZAIK 01| |7 [L®HL 10| |0 |EOEH 1 (& |[BYBZFE 0.5
(LR HBR—TF 3 Ayt ey 0.6| [{H h CFih 0.5
FAESHE 1| |7 [Wwhsszx—F 3 | [ hEymEE 8| |~ |mO=E; 3
L os| || [am 06 Y x#Ya 15
&1 03 ;E ) 0.02 T |BE 1
L&D 003| |v  |ROEH 08 =z |BHEEa) 1
FHEy AL YA GBS 05| |A [FEravvs a-mms 0.3 & 20
2 AWM =L;-)) o1 |y [p—=uzx 0.1
o—yxT ol| [+ ;& 105 AHOL 30
B 100| || INASE 15
A @F—EEAYF—X 15 AS 5
(B) 254 2F—Z (hD#H) 20 BEOER 1.8
I EE 1.5
% AW =L 1
B HMAS21—R 125




E9H

248 (K) 25H (JK) 26H (K) 278 (%)
A Bmb —A&EY | |#zs Bmd —A&Y | |#xs Bmb —A&Y | |#za =4 E —AHY
EkRDE EkHE EkHE ERNE
¥_{T b =ES 80 % BEX(F) 70| [/d [3uRssy | B [BAXER 70
- |mx 3| |=  [k#uE Fi 10| (2 T [ xuzE = 10
% ALERE 12 % :'J 43, 206 i
Big 0.9 43 206| | ~ [EL 206
& 4 K REFTFL(N=D) 35| [}
7 |4E 206| |z, |BAXEIVTF 20| |v |PTE 13| |~ [BEAvt B REL 18
AR 1 LR FESHME 15| (& [masvr +1 gHL 12
K [BE _XS54R 30| | [CREE Hub 65| [ [R—ar XF54X 65| |= |ZBER 25
A (Y Alzel 25| |7 |EhE B 40| B [EhE go= 30| & [EwE o= 50
& [HEnSES 35| (A s 10 Y X fvk 8| |~ (A 10
E AS 15 é AS 10 8 AS 5/ |7 [FkaFE 5
5 ) SPVAIFA 51 =3 OkE Gamy) 10 = BTERE 5 |4 |wmFLrrasiz) 1
o |Eftail 1 x |CRTEES 5| |z |GDRULE 2| |z, |BOE 4.5
% |EOE 47| || BAHLEZ 1,8 [HiENZ— 1 AHY A 3
W EE 19 | [ $B3LIZAIK 08| [+ [EOEHm 15| [ (BB 15
FO¥E (P IHE) 19| |B |tf-tad 1| [T Big 03| [& b} 1
| KHYA 19 rebT F oy T 6] [T [CSL&> 004 L [&iE 0.6
X |caAm 1| |7 [RoEs 35 tit-tam 02| |2 [can 0.8
2 = 2| [F [Lhser—7 3| |7 w [ELAE s 15
<‘ 5 FHZ 25| [y |ZRASHZR 20 ELEM 0.5
& [ABPL 25| |5 |EbEE(ZIERE) 1|5 |[Ew3Y 22| |3 |i& 50
A [EERY 20 hEX-—TDF 04| |5 [AB 5| |1
»H AT 5| |7 |Bi 01| |R  |Zf=1ait 1|17 |Est casss 35
A |[tLBA AH 5/ )V |ERE 0.15| | |EbEE(EBHE) 07| [V |G-tk 7
. |mOsEs 15| || [cxm ol] [F [&E: 225 b [EwE goE 15
S |enpvsczcuy 12| |7 [cak 2| |5 [TEBEE 0.25 BE 4
5 1‘“_ & 30 BiE 0.15 O 3
2 |E®IvoRFvY 15 |~ % ) 002 (ki AGA=E: ) 3
+ AEHHL 20{ |y 5 4
Y Ep5Y 25| > |[UED T 60
Vi (LM F—)La—y 5 (E)3—4 Lk N 70
=413 2 (E)3—4 Lk f1 100
CFEih 1
= O 23
3 A =L ) 1.2
(85) #bY) B3 2% (500g) 1
() ZIL—y&EL 40




308 (A)
w4 BRdt — A%y
EKDE
=P 80
[«
W) 206
4 - —
E) (M EOEBRBIT /N 50
G EoERBT B 60
i |Bt=taim 7
)
= [CRTPVAITA 15
2 [ KbHPL 30
- [AB 5
b |am 2
EOEH 2
| (CEEE) 1
A e pyscE G 1.2
¥ [FYZFE 1.2
A
D [HEE Ak 20
; s 8
B FRE ROE 25
& |[Tlbrs b 04
z  |BRE 3
hHZ 6
b |HHE 3
g ELEFL 3
P K 105
&
%
it

E9H



